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[ HEARAIFE ]

AIEIEER I:- R v EREE AlE B3 BIERER AlE B BIEFHR
IFLCA g/mN 0.08 0.00089k i 0.0009 i
1 BREEEEY ppm 175 1.3 0.36
= | EREIEY ppm 250 H28.12.27 99 H29.3.9 44
2 Eibk*E ppm 430 10 15
—B{LiRFR ppm 100 3 2
XL CA g/mN 0.08 0.00087k i 0.0009
9 REBRIELY ppm 175 0.56 0.15
5 | EREBIEY ppm 250 H28.12.28 110 H29.3.10 100
g /b KE ppm 430 85 042
—BibiRE ppm 100 3 2
[ FAA X 5EEERIE )
AIEIER B ERAEE HAE B BIERER
1 H28.12.27 0.002
=
l H29.3.9 0.00017
BEA R ng-TEQ/m 1
2 H28.12.28 0.0016
=
bl H29.3.10 0.0022




